
BDI

LOGO EMPRESA

DISCRIMINAÇÃO

1 Taxas Gerais: TG = [1+(AC/100)]x[1+(DF/100)]x[1+(R/100)]x[1+(L/100)] TG 1,0000         1,0000              

1.1 Rasteio da Administração Central AC % %

1.2 Despesas Financeiras DF % %

1.3 Riscos, Seguro e Garantia do Empreendimento R % %

1.4 Lucro L % %

2 Impostos : I = (i°+i¹+i²+i³) I -               % -                    %

2.1 COFINS i° % %

2.2 ISS i¹ % %

2.3 PIS i² % %

2.4 Outros i³ % %

B.D.I. presumido = { [TG / ( 1 - ( I / 100 )) ] - 1 } x 100 -               % -                    %
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